NCAT—21b
(018 NC Rotary Table

TABLE .
MR series mri20 - mr160 - MR200

AVINIENCHT—TIVDRER A2 F3—F247
Industry standard compact rotary table

@ > A&/ NIV hE&ET
Minimum size in its class

@ZE[£ 75> {1k Pneumatic spec

OLUTIVTARI ISV THRICEZERAZEETI SV T MVY
Powerful pneumatic clamping torque by triple disk
Clamping system

@=REELR High speed rotation

@S 1EE High accuracy

@ — 2T a1 MEHATAE
Rotary Joint built in as option

@/\EIM/ClCRiE
Ideal for compact machining centres

*CExtisam CE correspondence

MR160R

@enERa>r to—311)
(With Kitagawa own controller)

MR160L
(A#Fvarvo—2UYa1vrAR)
(Rotary Joint built in as option)

fER=EHI Sample Application

ANSZAVITPNIBR)T SUSELRINTIE  ATEGEOT—TIVHEHMLET AKITAGAWATCDSTER T v v I EBhETT
RRLET Table with T-slot can also be offered. RET—VKR—IVT1v7EEDETTHE#KL
Various trunnion systems available. feEn
(See P119). Only Kitagawa can offer this combination of

NC Rotary Table and chuck



(ditagawa

fIhn#h{t#% additional axis specifications M{SE{t# M signal specifications
g F=IWHAX t THAVES s T=IHPA4RX L THIUBS
Type Table Size Design No. Type Table Size Design No.
120-160-200 E—#41&%E Motor type 120-160-200 Quinteft#
25> 773 Clamping method Quinte specification
ZEEDF+ Only Pneumatic 95> 7% Clamping method
5B Right/Left hand S0 Only Pneumatic
R : B F Right-handed type AT Right/Left hand
L : ZB$F Left-handed type R : BB F Right-handed type
L : EB%F Left-handed type
M {t#% Specifications
B X Model MR120 MR160 MR200
AB%F Right-handed type O O O
EBE Left-handed type O O O
T—7)ViEZ Table dia (mm) $128 165 0202
T—7IVE#E74E Centre hole dia (mm) ¢ 50H7 ¢ 50H7 ¢ 65H7
T—7IVE@JVZE Through hole dia (mm) ?32 040 45
t>%2/\1 I Centre height (mm) 120 140 140

422> 773 Clamping method

ZE[E Pneumatic

ZE[£ Pneumatic

ZE[¥ Pneumatic

95T VY (Z=E 0.5MPaks)

A—&2YI 34V #Tva> - PI2IsE)
Rotary joint (as an option-P121 reference)

SHE/ZE3R—b
Hydrauric/Pneumatic 3-port

Clamping torque (at pneumatic 0.5MPa) (N-m) 150 310 350
E— 288 1+ —+ Motor axis reduced inertia (kg-m2) 0.00004 0.00008 0.00017
#—HRE—% (FANUCIEARDIZR) Servomotor (for FANUC specification) aiF 2/5000-B aiF 2/5000-B aiF 4/5000-B
JOELE Total reduction ratio 1/60 1/72 1/90
FANUC{EA% (min-1/£—7423000min-1E)
s EsEEERE | FANUCspecification(min-l/at motor 3000min-1) >0 41.6 333
Max. rotation speed | MfSE+4t# (min-/E—43000min-18)
Msignal specification(min-'/at motor 3000min-1) >0 41.6 33.3
AT —2U14F—+ Allowable work inertia (kg-m2) 0.22 0.51 1.00
2l H#EEE Indexing accuracy (sec) 20 20 20
FIRFERE Repeatability (sec) 4 4 4
S FE & Mass of product (kg) 33 41 61
FEHT—IVAL YT GTvav-P1sEE)
Manual tailstock (as an option-P115 reference) MR120RN MR160RN MR200RN
T—IVAEY RV (#7723 - P119BER)
Tail spindle (asan option P19 referencel TSR121A MSR142A/TSR142A MSR142A/TSR142A
RJ32-12Q04 RJ40H16Q RJ40H20Q02

SHE/ZREAR—b
Hydrauric/Pneumatic 4-port

SHE/ZEAR—b
Hydrauric/Pneumatic 4-port

#EEE (kg)
HFAEHEE Horizontal installation 120 160 200
Allowable mass of
workpiece IEF (kg)
Vertical installation 60 80 100
F (kN) @ 8 10 -
tan FXL (N-m)
(F=WO5VTH) ‘m
Allowable load $ 350 600 1100
(When clamped to table)
A e 150 310 350
SFAEUIEIN VY T (N-m)
(V4 —LFT3E)
Allowable cutting torque 180 220 270
(Worm gear strength)

) LESREBAAAY FIENCT —7)VDTC- DM - LRZE R 221 —XICARL TWVE S,

T IVROFR—AIENBLTBYE LA,
MESHFEOEETT.

27 =WV TRYL/A RNV ERELTWE T,
4.0—2D)I 34> DT =T IVED T AR~ MEBIEMR120, 20017 —7 L AIEIE. MR160IEY 7 RIBEE SRV E T,

INCT =TIV E TR E DD
SHREBIIEL

Note) 1. The switch for pressure checking is incorporated to all series except TC/DM/LR of NC tables. 2. The solenoid valve for the table clamp is incorporated. 3. Neither cable
nor hose is fitted between NC rotary table and machine tool. 4. In the port part on the table surface jig side of a rotary joint, MR120 or 200 is fixed to the rotary table side
and MR160 to jig side. 5. Each product mass is determined by a Kitagawa M signal spec.




NG ROTARY .
MR serieés MR120 - MR160 - MR200

W~1ER [3hngk{14#%] Dimensions [additional axis specifications]

MR120R (L) cera
7>V TRZEEHREO RNARIVL
(E@EITHIET) Hex bolt
Pneumatic port for clamp
(on back side) M12X45
EREO—21) D31 > MEYIER
In mounting the standard rotary joint
387 4y 136 105 — —
5 302 / 46 Foble surface “
6-M8 8 T / u 3-M5
80~ %- F:@éiq‘ i ¥ T gt
[ | I o)
. S = T R /\‘ A IR 13|
B o = EERE - ‘ == I s A
& J@ Lo 7 L : N H o4 2 ; 7@7, §
=18 _ Z = 6-M5 — =
,@ 0(" 773 f
0 n ¥l 135.5 28.5
S | [ — e
o o g 5 o LmEe -
4h7 10 Lo T—7IVEER o
179 208 131 Through Hole Diameter Clamping Parts
Rc1/4
75 TRZEEMEO
(EEICHIET)
MR160R (L) Pneumatic port for clamp
(on back side)
404 5 145 107 NARIVS
92 312 / 485 REO—21) 2D 314> NEUTES Hex bolt
6-M10 In mounting the standard rotary joint M16X55
F—7IVEmE
Table surface
- T | =
o — “LU\ TJH o] —| H g
& i 4 g 8
[=} \% - = o Y
< & L
- A 30
%Y:va = :1;
< &l 16 7 —7 )V EER 45788
Through Hole Diameter Clamping Parts
142
Rc1/4
V5V 7RZEEMRO
(EEICHIET)
MRZOOR (L) Pneumatic port for clamp
(on back side)
457 5 173 109
BEO—2) D31 MR
46 In mounting the standard rotary joint
ARV E Hex bolt
F—7IVEE
Table surface
P 3-M5 2 e
[T
© <
N/ ¥ =
q I
[=} 3« R S —rT-—T -7 |© - 6
& N S o = E i
35 20 \e-Me %t@
v 3 172 ¥
=3 == 30
o T ‘,EEO 1028
~ = T IVEEN I7vT8EEA
256 168 Through Hole Diameter ~ Clamping Parts
¥ EFEENERTEAGFANUCHAR T, It E—2ERDIBE TEDNRGED I ENBY T, RIFAHFIIR. LIFEBFARTT,
%The above dimensions are the same as FANUC specifications. Those dimensions may vary from motor to motor that is mounted.
Ris a right hand spec. and L is a left hand spec.




-
FE— R DAL KU EDED ZTREABYE T, Lb it agawa

*The dimensions may vary from motor to motor that is mounted.

W~F%R [M{E5114#%] Dimensions [M signal specifications]

MR120R(L) BRIV
Hex bolt
Rc1/4 M12X45
ISV 7RIT7HIENO
Pneumatic port for clamp
316 T
T—7IVEE &
85 231 7 {
6-M8 4 136 46, Table surface 3-M5 A
0 0 2 [ 1
O~ - ai N g [ [ ]
y - S 5 ™) & \13
g N & g . 5 13-
CIN77 BN « , - e ST
0 -9 D ©H—SHH+ = o I < [
- ol 41— L
: J: Sy N Llee 200\ g = —7$~ b
8 -2 NP ‘
& q o 77& -— 135.5 28.5
o 5 i1
o = == ﬁ_ F—T VBB 95788
« N Through Hole Diameter Clamping Parts
14 —_ 7 - -
10, 19
179 137 131 BEO—2YYaA N ERfIES
In mounting the standard rotary joint
MR160R (L) X
NERIVE
@cl/4 ——- Hex bolt
4 TI7H4a
Pneumatic port for clamp M16X55
337
6-M10 92 245 BAEO—R1) Y34 > MRS |
_ 5 145 485 In mounting the standard rotary joint m
F—7)VEE
Table surface % 77" *4{
g . g 98 =
[ < - 16
] © B ~ | o 9 =
© o S 1 |
Q k - 3 : . ,7§ )7_
o . |
I 28 20 | \6-M6 e '
Y .y 144 o |30,
o R o
) == == ) _ S _
10 10]| T—7IVEBR 750788
142 Through Hole Diameter Clamping Parts
MR200R(L)
Rc1/4
oV TRITHENO
Pneumatic port for clamp
EHEO—A21) Y 34 > NETEE e
In mounting the standard rotary joint ARV
5 173 45 Hex bolt
=+ T LE M16X50
Table surface L
2
3-M5
© 2|8
o e ST #
=} -
. S I ===, ST
Q A oy s = i
35 20 |[\eMs 2 @
1 172
%f - =1 |30
&2l o 10| Il . _.
T IVEBN o788
168 Through Hole Diameter Clamping Parts
XRIFABFLER LISEBFLIRTY,
%R is a right hand spec. and L is a left hand spec.




NCAF—71V
NC ROTARY Hs R:t-ary Table

TABLE .
MR series mraso - mr320

AVIN7FNCAT—TIVDRER AZ2V/F—F247T
Industry standard compact rotary table

@ S AENIVINT MERET
Compact design

@ZEEY 5> 71tk Pneumatic spec

O TARI ISV THRITEBRNZEE
ISVT NIV
Powerful pneumatic clamping torque by triple disk
clamping system

@=:E[E%x High speed rotation

@S 1EE High accuracy

@1—4%T a1 MEFHAIEE
Rotary Joint built in as option

*CExfinam CE correspondence

MR250R(L)V
(ALNERa> FO—311)
(With Kitagawa own controller)

fEREHI Sample Application

1’

ANSTA VAT ZENIPZHERMIA CEIARX N I VIT—HEBVET
Specialist trunnion systems allow for multi surface or simultaneous machining.



(ditagawa

fIhn#hit#% additional axis specifications M{SE{t# M signal specifications
g F=IIWHLR t THAVES g F=IIWHALX L THAUES
Type Table Size Design No. Type Table Size Design No.
250-320 E—#41&%8 Motor type 250-320 Quinteft#
95> 7 A% Clamping method Quinte specification
ZEEDF Only Pneumatic Z?‘/?"Hiﬁ Clamping method
EARSF Right/Left hand Ze[E 0 J+ Only Pneumatic
R : B#4F Right-handed type R : BB%F Right-handed type
L : ZB$F Left-handed type L : ZB5F Left-handed type
M {t#% Specifications
B X Model MR250 MR320
AB%F Right-handed type O O
S F Left-handed type O O
7—7IViE?Z Table dia (mm) 250 6320
F—7)VEHETU4R Centre hole dia (mm) »100H7 ®130H7
7 —7)VEi@7V#Z Through hole dia (mm) 070 ¢105
>3\ Centre height (mm) 180 225

25> 7753 Clamping method

Z2[E Pneumatic

Z2[E Pneumatic

95T VY (ZEE 0.5MPak)

Clamping torque (at pneumatic 0.5MPa) (N-m) 600 1200
T—2Eh0E(F—+ Motor axis reduced inertia (kg-m2) 0.00031 0.00031
H—RE—42 (FANUCHEDIZS) Servomotor (for FANUC specification) aiF 4/5000-B aiF 8/3000-B
IR L Total reduction ratio 1/90 1/120
FANUCH# (min-1/E€—%3000min-185) 333 25

F—7 eamEEE | FANUCspecification(min-'/at motor 3000min-)

Max. rotation speed | M{E2 4% (min-)
M signal specification

33.3 (3000min-1)

16.6 (2000min-1)

SFA7—%Y414F—<+ Allowable work inertia (kg-m2) 1.95 4.49

ZI|H#5RE Indexing accuracy (sec) 20 20

FIR#EME Repeatability (sec) 4 4

S5 EE Mass of product (kg) 85 135

FEFT—IVAPY Y (T3> - PISBE)

Manual tailstock (as an option-P115 reference) MR250RN MR320RN

T—IVAEV RIV 723> - P1198E)

Tail spindle (as an option-P119 reference) MSR181A/TSR181A TSR181A45
RJ70H25Q02 RJ70H32Q01

A—&YUIJ 314k #7va> - PI212R)
Rotary joint (as an option-P121 reference)

SME/ZEE6HR—b

Hydrauric/Pneumatic 6-port

SHE/ZBE6R— b
Hydrauric/Pneumatic 6-port

HEEE (kg)

TARHEE Horizontal installation @ 250 350
Allowable mass of
workpiece IEE (kg)

Vertical installation 125 180

F (kN) @

21 25

?#isf} u% TE) FXL (N-m)
TS ‘m
Allowable load & 1600 2400
(When clamped to table)

P () @ 600 1200
SFAUIEINVY T (N-m)
(V4 —LFT38E) 480 800

Allowable cutting torque
(Worm gear strength)

) LENREREAA Y FIENCT —TILDTC- DM+ LRZFRC 22U —RICHBIL TVE S,

27 =WV TBYL/ARNVTIERBLTWE Y,  3NCT—TIVE TE#IR S DD

T IVRUFR—REBLTEVE A,  40—2)Ia( > OT7—T)VEY7RIR—MRIEMR250, 32037 —7IVAIEELGYEY, SHSERIEEMMESHRBOES

T

Note) 1. The switch for pressure checking is incorporated to all series except TC/DM/LR of NC tables. 2. The solenoid valve for the table clamp is incorporated. 3. Neither cable
nor hose is fitted between NC rotary table and machine tool. 4. In the port part on the table surface jig side of a rotary joint, MR120 or 320 is fixed to the rotary table side.

5. Each product mass is determined by a Kitagawa M signal spec.

D




NG ROTARY .
MR series MR250 - MR320

W~F%E [{3hn%h114#%] Dimensions [additional axis specifications)

MR250R (L) Rc1/4 45> 7 RZEMEN
(BEICHYVET)
Pneumatic port for clamp
(on back side)
477 5 180 108
128 349 78.5 FEHEO—421) Y31 > MBS ARV
6-M12 In mounting the standard rotary joint '—l\l/le:g;l;s
F—7IVEE
Table surface © St.17 45
=) M6 S S
Jre} /7 ~ iy @
o o =1 1 == E’L AL
I | F/P ™
QA 8% +—5% X
3 w G r 2 - -,
@ & — == 9 24| |48 ¢
2 o g 20 | \6-M8 w
T 4y 179 @
== S e e
of | l1an7 e s 10/ T s
281 175 7_‘—7‘“/%557? 7577%%,5\
1 Through Hole Diameter Clamping Parts
5% 70 [E {it
MR320R(L) (g 727 /Bemaen
Pneumatig port for clamp
(on backsside) BEO—5UYa 1Y M
560 5 210 101 In mounting the standard rotary joint SAERIV
- Hex bolt
160 400 68 T—7IVEE
6-M12 ‘ / Table surface M16X75
[N | Spe 3-M6 6-M10
X =
° /‘ $\ﬂ = | ~ VIR -
©| 010 o < | I| © © ol oy
-5 ° AR o S| o - ol || = N
© _\ Lt a g H— i :; e L= = — = &,
3 & o 2 Tl
o ole &) s, @ 34 2
N RN &) 2
) ) R )
- 90 1 Ly ‘ # 209 o =
o o N
18h7 o @ J;o 10| & =
2 = S =~ o
320 240 00 F—TIVEBR 55788
Through Hole Diameter Clamping Parts

¥ EEENETIAIFFANUCIER T, it E— 2R DB E TEDNRRD T EDHY £, RIFEHFAER LIFEBFLERTT
*The above dimensions are the same as FANUC specifications.Those dimensions may vary from motor to motor that is mounted.
Ris a right hand spec. and L is a left hand spec.




(ditagawa

*E—ZDARIC LN TEDEDSEREED DI E T,
*The dimensions may vary from motor to motor that is mounted.

W~F%E [M{§511#] Dimensions [M signal specifications]

MR250R (L)
Rc1/4 25> 7RZERE#EN
Pneumatic port for clamp
433 ZEO—2)I 341 > MNEUTEE NAERIVS
128 305 5 180 785, /In mounting the standard rotary joint Hex bolt
6-M12 F—JILLE M16X65
Table surface 2 St.17 0 45
Q - <S—M6; S it 5 ﬁ
o o T /e _ EL ANy
D 8 ﬂ ZJ i
0 Q| - Si® ++ 1 |3 R
Q - 1y L 4 24| l48| =
Q 37 20| | \6-M8 i
«© 1 - [t}
® 179 © l =
#
SR -t ! &
110 10 *NT
175 T—IIVEENR ISV TE8EE
Through Hole Diameter Clamping Parts
MR320R (L)
Rc1/4 05> 7T RZEEHHEO
Pneumatic port for clamp EREO—A21)T 34 > YIRS
465 In mounting the standard rotary joint
5 210 | 68 |
6-M1 F—7)VLLE
Table surface
3-M6é 6-M10 ARV
. Hex bolt
© = L M16X75
JQ 3 = N ) " 45
0 -3 - — S| © 118 - Q H
S Y D - o 8 o C o
N L= V. Liﬁ <~
o == ]
I ]
N T 1
VA 34 20 17| log =t
-— —t |
8 110 10] 8 209 =i o
30 &
320 145 200
F—7 )V EER 55788
Through Hole Diameter Clamping Parts
XRISABFEER LIIEBFERTT,
%R is a right hand spec. and L is a left hand spec.






